PDAIKIN

Submittal Data Sheet

2.0-Ton Wall mounted Indoor Unit

FTXS24WVJU9
Model FTXS24WVJU9
Cooling Heating
Power Supply Phase 1o
Hz, vV 60 Hz, 208 - 230 V
Rated Capacity 24 kBtu/h Class
Front Panel Color White
Airflow Rates | H cfm 643 (18.2) 699 (19.8)
M (m?min) 494 (14.0) 572 (16.2)
L 350 (9.9) 445 (12.6)
SL 328 (9.3) 403 (11.4)
Fan Type Cross Flow Fan
Motor | HP 0.06
Output
Speed Steps 5 Steps, Quiet, Auto
Air Direction Control Right, Left, Horizontal, Downward
Air Filter Removable, Washable
Running Current (Rated) | A 0.57-0.51 0.57-0.51
Power Consumption w 69 - 68 69 - 68
(Rated)
Power Factor (Rated) % 58.2 - 58.0 58.2 - 58.0
Temperature Control Microcomputer Control
Dimensions (H x W x D) | in. (mm) 13-3/8 x 41-5/16 x 9-3/4 (340 x 1.050 x 248)
Packaged Dimensions (H | in. (mm) 13 x 45-11/16 x 16-7/8 (331 x 1,160 x 429)
x W x D)
Weight (Mass) Ibs (kg) 31 (14)
Gross Weight (Gross Ibs (kg) 45 (20)
Mass)
Sound H/M/ | dB(A) 51/44/37/34 48 /42137134
Pressure Level | L /SL
Sound Power Level dB 67 64
Heat Insulation Both Liquid and Gas Pipes
Piping Liquid | in. (mm) ¢ 1/4 (¢ 6.4)
Connection  "Gag in. (mm) ¢ 5/8 (¢ 15.9)
Drain in. (mm) ¢ 5/8 (¢ 16)
Note SL: The quiet fan level of the airflow rate setting

Daikin Comfort Technologies North America, Inc 19001 Kermier Rd Waller TX 77484
www.daikincomfort.com or www.daikinac.com

Daikin City Generated Submittal Data

(Daikin's products are subject to continuous improvements. Daikin reserves the right to modify product design, specifications, and information in this data

sheet without notice and without incurring any obligations)



http://www.daikincomfort.com/
http://www.daikinac.com/

MXS-W, MXL-W, MXLH-W Series

EDUS122205A

FTXS24WVJU9

THE MARK (—) SHOWS PIPING DIRECTION

LEFT

1 ReAR

41-5/16(1050mm)

T RIGHT

( INCLUDING )
INSTALLATION PLATE

:> AIR FLOW(INDOOR) -

9-13/16(250mn)
9-3/4(248nn)

FRONT

L GRILLE
FIXING
SCREWS

={ )

13-3/8(340mm)

(INSIDE)

BOTTOM]

7-3/8(187nn)

WIRELESS REMOTE CONTROLLER

FLAPS

SIGNAL
@4 TRANSMITTER
-5/16(58nm H/lﬂlﬁmm)

040
oYo

(ARC452A21)

FTXR09/12WVJUW(S)9

NOTE) 1, THE MARK (—) SHOWS PIPING DIRECTION.

39-5/16(998)

(INSIDE)
MODEL NAME PLATE

BLADE ANGLES

UP/DOWN
(AUTOMATIC)

50°

COOLING, DRY HEATING

o 15 o
25" 25"
13 5"

RIGHT/LEFT(AUTOMATIC)

%&E

GENERAL RATING
NAME PLATE

SERVICE COVER FIXED
SCREW(ON FRONT GRILLE)

\

(
)
©
=
() ) S
BoTTON ¥ FRONT GRILLE FIXED SCREWS INTELLIGENT, | BoTTOM
(INSIDE PANEL) EYE SENSOR
MULTI-MONITOR LAMP
TIMER LAWP INTELLIGENT
e EYE LAMP

SIGNAL RECEIVER

Eo om raisuiTe
2-5/16(59) 1/4(21.5)
000

T-1/16(189)

WIRELESS REMOTE CONTROLLER
(ARCAG6A36)

BLADE ANGLE

UP/DOWN(AUTOMATIC)

COOLING, DRY HEATING

30°

65°

ROOM TEMP, THERMISTOR

T | -]

MIN. 1-15/16(50mm) MIN, 1-15/16(50mn

)

PERFORMANCE )

MIN, 1-3/16(30mn)
(SPACE FOR

TERMINAL BLOCK WITH
EARTH TERMINAL
(INSIDE)

(SPACE FOR N (SPACE FOR
WAINTENANCE) REQUIRED SPACE “ufiitenaice)

=

GAS PIPE ¢5/8( 415, 9mn) CuT

(THE LENGTH OF PIPE OUTSIDE

THE UNIT: ABOUT 15-3/4(400nm))
LIQUID PIPE ¢ 1/4( #6, 4nm) CuT
(THE LENGTH OF PIPE OUTSIDE

DRAIN HOSE
(CONNECTING PART
0.D. ¢5/8(¢16mn

THE UNIT :

THE UNIT: ABOUT 18-1/8(460mm))

41-5/16(1050mm)

)

THE HOSE LENGTH OF OUTSIDE
ABOUT 18-5/16(465mn)

9/16(14, 5nm)

11-15/16(303)

37-5/16(947mm) 1-3/8(35, 5nm)
e e e e e
FAN ! U B
: S 2 E
i | EER
2 - g
= ! T
3 $ *_' =
" [ \Nwwne e wwwe /|| <
PIPING ¢3-1/8(¢80mm) HOLE $3-1/8( ¢ 80nn) HOLE §
2-9/16(65nm) 3-1/2(89mm)
STANDARD LOCATIONS OF WALL HOLES
3D073962B
OPERATING STATE: REQUIRED SPACE
1) 0FF FOR INSTALLATION ~// Y _
C>AIR FLOW(INDOOR) s2
r | 1 TERMINAL BLOCK g E%
L WITH EARTH TERMINAL é o
(INS1DE) = S
1-15/16(50WIN | | <2 1-15/16(50)MIN
By (SPACE FOR (SPACE FOR  =| —
RIA1A0) OPERATION) OPERATION) =|S=
8-1/16(214) _| INCLUDING gluz
le——————>{ MOUNTING PLATE 13-3/4(350MIN_| S-13/16(250MIN Z (S 55
‘4 (SPACE FOR — (SPACE FOR |, =[S
é RECEIVING)  RECEIVING)[/ &
2
1/16(18) ]
[S-3/8038) {}} 43
UP AND DOWN WIND Tt s s T g S
) =
ﬁgCig{;”:AﬁgEW BLADE (e Cehanit 3F 58 iee it 0t e
THE UNIT: ABOUT 13-3/4(350)) [T

ROOM TEMPERATURE
THERMISTOR( INNER)

FAN

INDOOR UNIT ON/OFF SWITCH

LIQUID PIPE ¢ 1/4(6. 4)Cu
(THE LENGTH OF PIPE OUTS

THE UNIT: ABOUT 15-3/4(4

00)) [
BACK SIDE VIEW

33-5/16(998)

[IJE DRAIN HOSE CONNECTING PART

THE HOSE LENGTH OF OUTSIDE
THE UNIT IS APPROX. 18-5/16(465)

26-9/16(674.5)

1-1/8(200)

13/16(20)

115/16049)

LEFT/RIGHT
(AUTOMATIC)

5-9/16(142

WALL HOLE
$2-9/16(65)

5

-15/16(151) |
STANDARD_LOCATIONS OF WALL HOLES

10-5/8(210,5)
1-15/16(49)
11-15/16(303)

WALL HOLE
#2-9/16(65)

3D105568B




	Cover

